BOTANY

1.  The term heteroecism means :
(a) Presence of heterothalism
(b) Presence of heterokaryons
(c) Completion of life cycle on two hosts by a pathogen.
(d) None of these

2. In Kreb's cycle, co-enzyme for succinic acid dehydrogenase enzyme is
(a) NAD (b) NADP (c) FAD (d) TPP

3.  Fruit rot of guava is caused by

(a) Alternaria solani (b) Aspergillus niger

(c) Pestalotia psidii (d) Colletotrichum falcatum

4.  Clamp connections are present in :
(a) Basidiomycetes (b) Oomycetes

(c) Ascomycetes (d) Deuteromycetes

5.  Gram staining is a/an
(a) Simple staining (b) Differential staining
(c) Complex staining (d) Acid fast staining

6. According to classification of enzymes, carboxylase enzyme belong to the class of
enzyme

(a) Lysases (b) Hydrolases (c) Isomerases (d) Ligases

7.  Which of the following viruses is largest in size ?
(a) Rubella (b) Bacteriophage (c) Cyanophage (d TM.V.

8.  The process of making germ free milk by heating it at 62.8°C temperature for 30 minutes

is called :

(a) Evaporation (b) Pasteurization

(c) Absorption (d) Condensation
9.  ‘Red-rust’ disease of Tea is caused by

(a) Cephaleuros (b) Cystopus

(c) Puccinia (d) Alternaria
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18.

19.

20.

Who was the first scientist to prove that O, is evolved in photosynthesis during light
reaction ?

(a) BlackMan (b) Robert Hill (c) Arnon (d) Emerson

Chantransia stage is found in the life cycle of which alga ?

(a) Polysiphonia (b) Batrachospermum
(c) Vaucheria (d) Ectocarpus

The most complex reproductive bodies are found in :

(a) Ulotrichales (b) Volvocales (c) Chaetophorales (d) Charales

Hormogonia are present in which of the following ?

(a) Ulothrix (b)  Spirulina (c) Zygnema (d) Nostoc

Which of the following alga is used as a source of Iodine ?

(a) Laminaria (b) Polysiphonia (c) Nostoc (d) Cladophora

Retort cells are found in which of the following ?

(a) Riccia (b) Marchantia (c) Sphagnum (d) Polytrichum

Chlorophyll-d is found in which of the following ?
(a) Xanthophyceae (b) Rhodophyceae
(c) Phaeophyceae (d) Chlorophyceae

Which of the following algae can be used in space missions ?

(a) Nitella (b) Anabaena (¢) Volvox (d) Chlorella

Septate rhizoids are found in

(a) Riccia (b) Anthoceros (c) Polytrichum (d) Marchantia

Which bryophyte among the following is most economically important ?

(a) Funaria (b) Sphagnum (c) Riccia (d) Marchantia

Agar-agar is obtained from

(a) Gelidium (b) Chaetomorpha (c) Codium (d) Laminaria
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19. frefefad & @ #F srwEe i s rea g ?
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21. Most of the families of primitive angiosperms belong to the order :

(a) Magnoliales (b) Asterales (c) Orchidales (d) Polemoniales

22. The term "Taxonomy' was coined by
(a) Braun (b) de Candolle (c) Bentham (d) Thorne

23. Of which genus 'Cyathium inflorescence' is the characteristic ?

(a) Brassica (b) Hibiscus (c) Citrus (d) Euphorbia

24. Caryopsis is not found in the genus :

(a) Oryza (b) Triticum (c) Pisum (d) Avena

25. In Caryophyllaceae the placentation is
(a) Axile (b) Parietal (c) Marginal (d) Free central

26. The botanical name of larkspur is

(a) Delphinium (b) Paeonia (c) Viola (d) Ranunculus

27. Verticillaster inflorescence is not found in :

(a) Salvia (b) Ficus (¢) Ocimum (d) Lamium

28. 'The Families of Flowering Plants' was written by
(a) Hutchinson (b) Angler (c) Mathur (d) Bentham

29. Beta vulgaris, an important source of sugar, belongs to the family :
(a) Apocyanaceae (b) Chenopodiaceae

(c) Asclepiadaceae (d) Brassicaceae

30. Asafoetida is obtained from :

(a) Roots (b) Stem (c) Leaves (d) Bark

31. The living element in xylem is :
(a) Tracheids (b) Vessels (¢) Xylem fibres (d) None of these

32. An example of Monocot showing abnormal secondary growth is

(a) Allium (b) Dracaena (¢) Triticum (d) Poa
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43.

44.

Lever mechanism of pollination is a characteristic feature of

(a) Antirhinum (b) Ficus (c) Thalictrum (d) Salvia

Cystolith is made up of
(a) Calcium carbonate (b)  Sodium hydroxide

(c) Ammonium chloride (d) Ammonium phosphate

Which of the following has the prop roots ?
(a) Maize (b)  Orchid (c) Wheat (d) Banyan

Which of the following families forms pollinia ?

(a) Cactaceae (b) Ranunculaceae (c) Asclepiadaceae (d) Poaceae

Which of the following is immediately surrounded by subsidiary cells ?
(a) Stomatal opening (b) Guard cells
(c) Phloem (d) Xylem

What is used as nutrition during microsporogenesis ?

(a) Tapetum (b) Epidermis (c) Pollen grains (d) Exine

In which of the following, tetrasporic eight nucleate embryosac is found ?

(a) Peperomia (b) Oenothera (c) Plumbago (d) Paeonia

Moisture absorbing Velamen is found in the roots of
(a) Mango (b) Ricinus (c) Vinca (d)  Orchid

Leptosporangiate condition is found in

(a) Salvinia (b) Marsilea (c) Pteris (d) All of these

Endosperm in Gymnosperms is
(a) Diploid (b) Triploid (c) Tetraploid (d) Haploid

Prokaryotic cells are not found in

(a) Nostoc (b) Cycas (c) Bacteria (d) Anabaena

Diploxylic condition is found in

(a) Cycas (b) Lycopodium (c) Selaginella (d) Allium
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52.

53.

54.

SS.

In India Gnetum is found in
(a) Assam and Sikkim (b) Central India
(c) North Himalaya (d) Odisha

Cycadeoidea was dominant flora of the era

(a) Paleozoic (b) Archaeozoic (c) Coenozoic (d)

Stalked ovules were present in

(a) Bennettitales (b) Taxales (c) Coniferales (d)

Transfusion tissue is found in

(a) Leaves of Selaginella (b) Stem of Cycas
(c) Leaflets of Cycas (d) Stem of Selaginella

Antherozoids large enough to be seen by naked eye are produced by

(a) Cycas revoluta (b) Pinus roxburghii
(c) Ephedra foliata (d) Gnetum latifolia

A leaf bearing sporangia is called as

(@) Ramentum (b) Sporophyll (¢) Indusium (d)

Fossils in which internal structures are best preserved are

(a) Compressions (b) Petrifications (c) Incrustations (d)

The Rhynian flora is best seen in
(a) Carboniferous period (b) Silurian period

(c) Triassic period (d) Devonian period

In Psilotum spore producing organs are called

(a) Indusia (b) Ramenta (¢) Sporophylls (d)

Carinal Canals are found in the stems of

(a) Marsilea (b) Selaginella (c) Lycopodium (d)

Heterospory is not found in

(a) Selaginella (b) Lycopodium (c) Marsilea (d)
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63.

64.

65.

Selaginella is known for
(a) Transfusion tissue (b) Carinal canals

(c) Mucilage cells (d) Trabeculated endodermis

Protocorm is found in

(a) Selaginella (b) Lycopodium (c) Equisetum (d) Marsilea

Development of gametophyte from sporophyte without the formation of spores is called
(a) Apospory (b) Tuber formation

(c) Apogamy (d) Gemma formation

Jute is obtained from

(a) Cannabis sativa (b) Linum usitatissimum

(¢)  Yucca baccata (d) Corchorus capsularis

Botanical name of the plant that yields para rubber is :

(a) Hevea brasiliensis (b) Ficus elastica
(c) Ficus religiosa (d) Manihot glazovii

The centre of origin of Rice is supposed to be
(a) Indian and Indo-china (b) Africa
(¢) Germany (d) Indo-Malayan Region

Coir is extracted from

(a) Xylem (b) Mesocarp (c) Roots (d) Phloem

Which of the following is an essential oil ?

(a) Mustard oil (b) Khus oil (c) Linseed oil (d) Groundnut oil

From which part of the plant saffron is obtained ?
(a) Stigma and style tops (b) Stamens
(c) Sepals (d) Petals

Kufri Jyoti is an improved variety of

(a) Rice (b) Wheat (c) Soyabean (d) Potato
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56. THAfTAe ST ST B
(a) TR Hdeh (b) T AT
(c) TS hIfTehTd (d) Jsfigpeids Tersh

57. eIk YR A2 :
(@ e ) JEemfgsm ) s (@) wrEifer

58.  sfiomRefie & fomm ey 9= i & faefad €M 1 #ad & -

(a) JUESUET  (b) e ST (c) A (d) T s
59. S R ST

(a) hAfed Bergal (b) TSN JEHICETEH TR

(c) Il dhel (d) HIEHRE FoEaiE
60. T T ITE A 9Tt GIY) <1 I Tdqeh AT & :

(a) Eifean sSfiferef=m (b) TRISHY SATIHT

(c) gy ffeafsramen (d) TNERe-TNEE

61. o 1 3T heg WHT ST &
(a) WRA qUT SUSI-TTIT (b)  3ThYeRT
(c) <l () ZUSI-TARE &

62. HEXIH fra1 @ 2
(a) TEY (b) Hised @ (c) eid (d) UNaEd

63. feafafgada s @ aTradas ?
(a) TEIHTA (b)) WHHAA (c) AT HAA  (d) HIThe I dal

64. Y % forg T A e 9TH R ST R 7
(a) SiohT Te dfciehl T HUL 9T (b) YhE
(c) SRIeA (d <«

65. ! Il weh ferenféra fope 2
(a) =Tae hi (b) TEHI (c) HTE 6 (d) 3L
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66. In Eukaryotes electron transport and oxidative phosphorylation takes place in
(a) Outer membrane of mitochondria (b) Inner membrane of mitochondria

(c) Chloroplast (d) Cytoplasm

67. The lac operon is induced by
(a) Allolactose (b) Galactose (c) Co-repressor (d) Glucose

68. A polypeptide is assembled on
(a) Nuclear membrane (b) Golgi bodies

(c) Ribosomes (d) Nuclear pores

69. Which of the following is common name of ascorbic acid ?

(a) VitaminB, (b) VitaminB, (c) Vitamin B, (d) Vitamin C

70. Which of the following does not have nucleic acid ?

(a) Mitochondria (b) Nucleus (c) Chloroplast (d) Lysosomes

71. 'Krantz anatomy' is found in

(a)  Saprophytic plants (b) C;plants
(¢) C,plants (d) All of the above

72. Which Hormonal condition is responsible for the falling of leaves in plants ?
(a) Decrease in Auxin concentration
(b) Increase in Auxin cocentration
(c) Decrease in Abscissic Acid concentration

(d) Increase in Gibberellic Acid concentration

73. Root pressure in plants is caused by
(a) Passive absorption (b) Active absorption

(c¢) Increased rate of transpiration (d) Both active and passive absorption

74. The first carboxylation product of C; plants is
(a) 3-phosphoglyceric acid (b) Oxaloacetic acid
(c) Maleic acid (d) Phosphoglyceraldehyde
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66. IHR3TE el § FoieF Hag Td HATeichd BREBIISTIIH BIdT &
(a) TTEEIhITUGAT i sTeT Tl | (b) WIEIRITIEAT Shi A= fufa o
(c) Eaeas ™ d) HiREIgEY

67. N A IS 2T &
(a) UcAlTRIS g (b) MRS gRI ) HI-TORZW  (d) TS g

68. TS ST F@el S¢H BT 2
(a) Heh R (b) MMM EEEW  (c) UIEEH T (d) g fogl T

69. Trfafea & 3 %5 a1 wwhifde ufte # yafaa @ 2 2
() faefmst, () foefmsh, (¢ faefmst, (@ e

70. Trfeiad 5 & foras =i 3w T8 o S g ?

(a) HIEIHIUGAT (b) H5h (c) Ehawa® (d) wrEEEm
71, S T el ST

(a) Hardse qrei | (b) €, Wi

(c) i, Wi (d) I mft

72.  BHE i i o fRufa qiut & ufvi o a9 wefia g 2
(a)  3ATfeg <hl TT=dl ol T (b) AT T AT bl S T
(c) UfeHfier 31ret <hl Tl o1 T ) fosifee 311 bl grgar 1 e

73. el H HoTers 1 R 7
(a) 3ATHY SN0 (b) @RI SraIE
(c) aTSAICESH i T H Jfg (d) sha qT JTHRT ST STa=TToT

74. €1, HIEl T GH HIEIFEATE IE &
(a) 3-BIEHIAENS TS (b) ieuiEies s
(c) #fdes tfae (d) HRRIHCEEES
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75.

76.

77.

78.

79.

80.

81.

82.

83.

Legume root nodules contain Leghaemoglobin. It's function is to regulate
(a) Expression of nif-genes (b) Denitrogenase activity

(c) Oxygen concentration (d) Nodule growth

The concept of Ecosystem was put forth by
(a) Clarke (b) A.G. Tansley (c) Woodbury (d) H. Reiter

Synchronisation of the phenological behaviour of the species and the different factors of
the environment, is known as

(a) Biological clock (b) Normal clock
(c) Anti-clock (d) Right clock

The food chain starting from dead organic matter to micro-organisms is known as
(a) Grazing (b) Detritus
(c) Normal (d) None of the above

Kaziranga National Park is famous for
(a) Asiatic Lion (b) Indian Tiger

(c) Bison (d) One-horned Rhinoceros

The Earth Summit held at Rio-de-Janeiro in 1992 resulted in
(a) Compilation of Red List (b) IUCN

(c) Convention of Biodiversity (d) Establishment of Biosphere Reserve

Which category of pyramid can never be inverted ?

(a) Biomass (b) Number (c) Energy (d) All of these

Red Data Book gives information regarding
(a) Threatened species (b)  Vulnerable species

(c) Endangered species (d) All of the above

In the pyramid of numbers herbivores occupy :

(a) 1" position (b) 2™ position (c) 3" position (d) 4™ position
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75.

76.

77.

78.

79.

80.

81.

82.

83.

SR e Y SISt i TSt B ehremreite gian g, feent ot frafid & g
(a) TI®- i sthireafe (b) TSI Shrfafer
(c) ATFHISH TTgar (d) e (Te) i g

TR fores o o1 g feper Sfcafed fepam 2

(a) ATH (b) TS == c) eI @ T dx
STfer & BAIAISTohel STagR Td TR0 hiehl o HAI hl gl STdl &

(a) WSAITReT FAlh (b) AU AT

() Uil (d) TS FATR

QT @ Sl g S 9ered § TR SIehl Y&H STiai deh dgad! &, hl ad &

(@ ufsm (b) efeea

(c) EM= (d) 39U H B hIS TE
ISR T e Wieg 2

(a) TS I/ o fo (b) W &Te o ot

(c) wEET ford @) U Gl e & for

1992 % Tei-T& ST 1 5 g2alt SHe 1 aiomm ot

(a) IS g 1 FhaA (b) TSI H ..

(c) S fafaedr 1 gem (d) Hfard S AU shi T

forg ot w1 forafire speft oft Seter =181 &1 &kt ?

(a) SEHE (b) TR (c) Foll (d Jgad
18 12T T HIHT 3T HIC 2

(a) @R YAl gaeft (b) HaeTiiet yerfe Heeft

(c) TIHYT™ SATId Fereft (d) 39U Teft

T3t & fufie § smeeETiE i Rl gt @

(a) JONEFW (b)) fGAIWEAR () TEAWHEW  (d) FIqE_ER

<
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84.

85.

86.

87.

88.

89.

90.

91.

Which one of the following is the first National Park of India ?
(a) Rajaji National Park (b)  Gir National Park
(c) Corbett National Park (d) Kaziranga National Park

Which is the best method of separation of plasmid DNA and Bacterial Chromosomal
DNA ?

(a)  Ethidium bromide-caesium chloride density gradient centrifugation
(b) X-ray diffraction technique

(c) Colony hybridization

(d) Western hybridization

Restriction endonuclease enzyme was discovered by
(a) Watson (b) W. Arber, H. Smith & D. Nathans
(¢) Crick (d) Hugo de Vries

Which of the following is a non PCR based marker ?
(a) RAPD (b) AFLP (c) SSR (d) RFLP

How many grams of IAA are needed to prepare a litre of 0.01 m solution of IAA
(M.Wt. 175) ?

@ 175g (b) 175¢g © L175g @ 0.175¢g

Which one of the following was responsible for Bhopal Gas Tragedy ?
(a) Carbon monoxide (b)  Sulphur dioxide
(c) Methyl Isocynide (d) Nitrus Oxide

Which sequence is a palindrome ?
(a) 5 ACGGATTCGC 3 (b) 5 CCATT3

) 5 CCAGG3 ) 5 AGGCCT3

Which of the following has triploid set (3x) of chromosomes in angosperm ?

(a) Embryosac (b) Nucellus (c) Endosperm (d) All of these
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84.

8s.

86.

87.

88.

89.

90.

91.

frfafga § @ Y 1 vem U STH R EI R 7
() TSI TgR e (b) TR s 3am
(c) whisie TrgH 3aH (d) T g ST

AT €l T T Ud 9T shiATEHe €1 T T hl 377 hid shl 98aA fafr e e 2 2

(a) SfUfSTm STEE-HIEM FANES T T Hre IR
(b) THH-I fetha aehiish

(c) hicAH! BTEisTSTZaRA

(d) S BT3SETEoRH

e TepErefius fhuae i @t & gRI I TS |

(a) dTeEd (b) oY, IR, T4, feqy qem €1 9u
(c) Toreh (d) =< emes

frerferaa o & s |1 d. 5. 3. 3maTia Jrek e 2
(a) IRTUE. (b)) UTIH.TAUL. (c) TH.UH.3TX. (d) IN.TH.TA.T.

0.01 HIeR TAA T 1 e °et 9 o 7T b= T TAA (M.Wt. 175) Sl STTagaehdl B8Rt ?
(a) 1757 (b) 17.57m. (¢) 1757 (d 0.175 7.

frafafaa 9 9 W g Tmed o T o1 STerRt o ¢

(a) oHTEA HFISATHITES (b) TTH SRIATFITES
(c) Theumse smzEERAES (d) TTEeH ITES
A1 R Afergm R ?

(a) 5 ACGGATTCGC 3 (b) 5 CCATT3

) 5 CCAGG3 d) 5 AGGCCT3

STrtef 3 frforfaa & @ frai By (Gx) TREEAE 7
(a) YT (b) ~IHTE (c) Yo d) T af
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92.

93.

9.

9s.

96.

97.

98.

99.

100.

The example of composite fruit is

(a) Tomato (b) Jack fruit (c) Mango (d) Apple

Which of the following produces a synzoospore ?

(a) Nostoc (b) Oscillatoria (c) Vaucheria (d) Volvox

How many nitrogen fixing genes have been reported in Klebsiella ?

(a) 17 genes (b) 27 genes (c) 37 genes (d) 07 genes

Which of the following objective lens in a microscope is known as oil immersion lens ?

(@ X10 (b) X40 (c) X60 (d X100

Who gave the ‘Fluid Mosaic Model’ of cell membrane ?
(a) Robertson (b) Singer and Nicholson
(c) Von Mohl (d) Camillo Golgi

In which of the following conditions, the rate of transpiration will be maximum ?
(a) Soil is wet and atmosphere is dry.

(b) Soil is wet and atmosphere is humid.

(¢) Soil is dry and atmosphere is humid.

(d) Both soil and atmosphere are dry.

Which of the following type of genetic change can produce an onchogene ?
(a) Gene amplification (b) Missense mutation

(c) Chromosomal translocation (d) All of the above

According to some findings the reason for a continuous decrease in the population of
vultures could be due to the consumption of which ?

(a) Paracetamol (b) Tetracyclin (c) Diclophenac (d) Pentacid

During the formation of RNA, at which site RNA polymerase binds to a DNA molecule ?
(a) Promoter (b) Exon

(c) Intron (d) None of the above

Series-A 20 SPU-27



92, HUIRE ®el (FUIT HT) T 3BT 2

(a) AKX (b) HeEA (c) 3™ d &=

93. frmferRad & & wiF R s 8 2
(a) FILTH (b) AR (c) ™R (d) arTaTEd

94, AT H ATESISH haayH & ford fhaw ST saR—I = & 7
(@) 1709 (b) 27 (c) 375 (d) 07

95. famferfigd § @ % 91 Aeafaed o g e SHEH @8 Hgddr @ ?
(@) X10 (b) X 40 () X60 @ X100

96. HIfsTeRT T b1 Tejgs Tiseh Aiga foha fezmam 7
(a) TEeEA (b) TERIRTPET(C) TH-TA (d) SRy et

97. fr=fafiga sraeensii 4 forad srsqicasi= <6 wifa 3tferaw gift ¢
(a) 79 eI TUT I FTATEOT (b)  H HET TUT TG AT

(c) [ T AT 3T STdTaeT (d) T[T qT AT T I&h

98. Trmfeiaa & | S |1 AT Ui 3Tl I~ L Tehdl & 7
(a) SfF yae (b) TS Seafed
(c) ShIMIEMT achIH (d) I gl

99, FHB MY YNUMHI < JTTIR gl 61 T § har 318 fohdesh @H A B @R ?
(a) UUHRRME (b)) ComETgiaeH (c) SIEFAThAh (@ dUerfie

100. 3.TA.T. HYI90T H 3TR.TA.T. GITHS, S1.UH.T. 370] § hal WISl & ?
(a) IR (b) TR (© FH (d) % § hIE Tl
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